c T ECONOMICS HSSC-II N
SECTION - A (Marks 20)

Time allowed: 25 Minutes [ Version Number | 1/8{9 5]

Note: Section - A is compulsory. All parts of this section are to be answered on the separately provided
OMR Answer Sheet which should be completed in the first 25 minutes and handed over to the
Centre Superintendent. Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Choose the correct answer A/ B/ C / D by filling the relevant bubble for each question on the OMR
Answer Sheet according to the instructions given there. Each part carries one mark.

1) Per capita income is;:
A Income per worker B. Income per head
C. Income per household D. Income per industrial unit
2) are payments of factors of production.
A. Money, Capital, Salaries and Income  B. Wages, Rent, interest, Profit
C. Meoney, Power, Prices, Wealth D. Wages, Interest, Salaries, Taxes
3) Which one of the following shows equifibrium of National income?
A Consumption = Investment B. Saving = Investment
C. Profit = Investment D. Loss = Investment
4) Quantity of money has relation with value of money:
A. Direct B. Indirect C. Inverse D. None of these
5) Which one of the following increases money supply?
A. Purchase of bonds by central bank B. Sale of bonds by central bank
C. Increase in discount rate D. Decrease in taxes
6) During inflation:
A. lenders lose, borrowers gain B. Borrowers lose, lenders gain
C. Borrowers and lenders both lose D. All section of society gain
7) When a commercial bank creates credit, it immediately raises:
A, The exchange rate B. The interest rate
C. The money supply D. The real National income
8) _ is a direct tax.
A Excise tax B. Sales tax C. Income tax D. Custom duty
9) Government policy about exports and imports is called:
A Maonetary policy B. Fiscal policy
C. Commercial policy D. Tax policy
10) If cash reserves ratio is 20% and a bank gets a new deposit of 10 million, then total increase in
deposit will be:
A. 20 million B. 50 miltion C. 100 million D. 200 million
11) Export of services in trade is cailed export of:
A Visible goods  B. Invisible goods C. Basicgoods D. Real goods
12) Rising prices of goods in Pakistan will:
A. Increase exports B. increase imports
C. Increase both exports and imports D. No effect on exports and imports
13) B is the basic economic probiem which is common in all economic system.
A Allocation of scarce resources B. Elimination of inflation
C Increasing exports D. Reducing interest rate
14) is the biggest obstacle in the economic development of an under developed country.
A. Vicious circle of paverty B. Social customs and traditions
C Political instability D. Corrupt administration
15) will be the result of deficit financing.
A Inflation B. Deflation
C. Rise interest D. A surpius government budget
16) If government revenue exceeds its expenditure, the budget is called:
A A deficit budget B. A surplus budget
C A balanced budget D. A capital budget
17) interest rate on Qarz-e-Hasna is;
A High B. Low C. Zero D. Normai
18) Economics system is prevailing in Pakistan.
A Capitalistic B. Socialistic C. Mixed D. Islamic
19) Basic principle of Islamic economic system is:
A Equality B. Justice C. High profit D. Less consumption
20) There are methods of measuring National Income.
A 5 B. 2 C. 1 D. 3
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Time allowed: 2:35 Hours

ECONOMICS HSSC-II

Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B(a)’ ,one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and leglbly.
SECTION - B (Marks 50}
Q2 a Attempt any FIFTEEN parts. The answer to each part shouid not exceed 3 to 5 lines.
(15 x 3 = 45)
0] Differentiate between GNP and NNP.
(i) Why are transfer payments not included in the national income?
(i) Define economic development.
(iv) Differentiate between Average Propensity to Consume (APC) and Average Propensity to Save (APS).
(v) Write any three causes of increase in government expenditure.
(vi) What is the difference between income tax and corporate tax?
{vii) Define investment and investment function.
(vii)  Define capital formation.
(ix) Define terms of trade.
(x) What is the main function of Pakistan Industrial Credit and Investment Corporation (PICIC)?
(xH) Define interest-free banking.
(xii) What is the difference between bond and share?
(xiti)  Define cross cheque.
(xiv) Write any three types of credit money.
(xv) What is the difference between Zakat and Tax?
(xvi)  Define public finance.
(xvii)  Write down three objectives of eccnomic planning.
(xviii) How does infiation affect general standard of living of people?
(xix)  Define unemployment.
(xx) Write any three causes of low productivity of labour in Pakistan.
(xxi)  Differentiate between real income and money income.
b. Attempt any ONE part. (1x5=75)
(i Describe circular flow of national income.
(i) What functions are performed by money?
SECTION - C (Marks 30)
Note: Attempt any THREE questions. All questions carry equal marks. {3 x 10 =30)
Q.3 Explain quantity theory of money.
Q.4  How does central bank control money supply in an economy?
Q.5 Suggest measures for the improvement of industrial sector in Pakistan.
Q.6  Why National income statistics are important for economic development of a country?
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